Subject Code :

Subject Exam Q . Answer
Code Date | 1a | Questions Key

In Indian Constitution, which of the following article guarantee Right to
Education?

YR Tfdym &, Faffea 3 3 oF a1 srgwe fRien & Sifier ot
TR ST 82

(A) Article 14

09- 3G 14
105 09- 561 (D)
2018 (B) Article 15

3fTw5a 15

(C) Article 16

TG 16

(D) Article 21A
21A

In August 2018, which of the following country have signed second protocol
amending Comprehensive Economic Cooperation Agreement with India?

3T 2018 ¥, FAgfafad & § f5 <=1 3 YR & W1y &g s
TEUNT gHEd H YRy B I IR Uielepiel IR g&IER 3 82

(A) Singapore

09-
105 09- 562 (A)
2018 (B) Japan
NG
(C) Indonesia
(D) Germany
105 09- 563 Which of the following acid is found in banana? (A &
09- B) &
2018 Fo 8 Fafafead & 3 19 91 3 urdm 91 82 (D)
(A) Citric acid
fafew s
(B) Acetic acid
wHifed s
(C) Oxalic acid
HET
(D) Malic acid

Afere 3
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According to NABARD, All India Rural Financial Inclusion Survey 2016-
17, how much of rural income is generated by agriculture?

TS 3ifae W T facit THTa=M Tderr 2016-17 & AR,
forat amior 3 Y gRT STed B el 82

(A) 23%
(B) 40%
(C) 57%
(D) 63%

Which among the following ministry has launched Swach Survekshan
Gramin 2018?

fRgfefaa & 3 fog Harerg gRT T Ideror Ao 2018 &1 ABTdor
far T g2

(A) Ministry of Agriculture and Farmar's Welfare
PN qUT ford DHedmu HATerd

(B) Ministry of Drinking Water and Sanitation
U O7ef YT TSl HATe

(C) Ministry of Rural Development
HATTI

(D) Ministry of Earth Science

G faqI HaATer

In the following question, out of the four alternatives, select the alternative
which best expresses the meaning of the idiom/phrase.

Birds of a feather flock together

(A) There is strength in numbers, a team can achieve what an individual
can't.

(B) people of the same sort or with the same tastes and interests will be
found together

(C) Even if they try people cannot change their tastes or interests

(D) People will flock together when they see an opportunity

In the following question, out of the four alternatives, select the alternative
which is the best substitute of the phrase

Not able to be changed or reformed

(A) Redeemable

(A)

(B)

®)

©
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570

571

(B) Cavalier

(C) Incorrigible

(D) Haughty

In the following question, a sentence has been given in Direct/Indirect

speech. Out of the four alternatives suggested, select the one which best

expresses the same sentence in Indirect/Direct speech.

She said, ""Mother, this dress looks beautiful."

(A) She said to her mother that, this dress looked beautiful. (B)
(B) She said to her mother that, that dress looked beautiful.

(C) She said to her mother that, that dress looks beautiful.

(D) She said to her mother that, this dress looks beautiful.

The question below consists of a set of labelled sentences. Out of the four
options given, select the most logical order of the sentences to form a
coherent paragraph.

According to the steady-heating
A-in turn have a specific density
B-model, the coronal loop of a given
C-length and temperature should

(B)
(A) ACB
(B) BCA
(C)CAB
(D) CBA
Answer the given question based of the following passage.
My favorite part of Saturday is walking through the city. Sometimes I close
my eyes and let Daddy’s hand guide me. When my eyes are closed, I can
hear things I don’t usually notice. I can always hear the cars honking and the
people shouting. But when my eyes are closed, I notice how the pigeons talk
to each other while they sit on the benches. I notice how the bell on Wilson’s
Grocery door sounds different than the bell at the hardware store.
What does the writer notice only if she closes her eyes? (A)
(A) The talking of the pigeons
(B) The honking of the cars
(C) The shouting of the people
(D) The holding of daddy's hand
Raman sold a car to Rajat at a loss of 14.28%. Rajat sold it to Vinit at a ©

profit of 66.66%. If Rajat purchased the car at Rs 1400, then at what price
(in Rs) Raman bought that car?
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A - XoTd I T ST 14.28% P 11+ TR a1 | Ioid o a1 BT 66.66%
& AH R 9| e T 7 ST 1400 T H WA, 9 9T A 98 WS fhaq

Tl (3 H) Rl

(A) 1120

(B) 980

(C) 1633.33

(D) 1167.67

L, M and P can do a certain piece of work in 15, 20 and 40 days
respectively. They started the work together. M left the work after 4 days of

starting and P left the work before 3 days of completion. In how many days
the work will be completed?

L, M TYT P U ST 1 BT 15, 20 AT 40 o1 A IR Tavd &1 S8
Rt T B TR e mwaﬁ$4ﬁqqm$ﬁ@ﬁww
T AT P, mwaﬁ$3ﬁq®WWWW|mﬁmﬁﬁ:{

# qof g1 s
(A) 9(6/11)

(B) 9(9/11)

(C) 10(5/11)

(D) 9(8/11)

In the square ABCD, E is the midpoint of CD. BD
and AE intersect at point O. If the area of AAOB is
36 m?, then what will be the area (in m?) of AODE?

@@ ABCD #, E, CD & #ew fasg ¥1 BD Jum
AE forg O W ufa=tg ad ¥ G AAOB @
8IS%el 36 A2 ¥, a AODE & &i5wa (3.2 H)
FIT Eam|

(A) 18

(A)

®)
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(B)9
©) 12

(D) 24

If tan 6 = 7/12, then what will be the value of [(sin 6 + cos 0)/(3 sin 6 + 4 cos
0)1?

7S tan 0 = 7/12, T [(sin 0 + cos 0)/(3 sin O + 4 cos 0)] BT HH T T2

(A) 17/69 ®)
(B) 19/69
(C) 17/36
(D) 17/67
EX 2T CASE QN X 21 (C)

The bar graph given below shows the production
(in quintals) of three companies in the given three
years.

Eﬁﬁﬁiﬂmaﬂgﬁ?ﬁ,%ﬂmsﬁﬁaﬁﬁg
e Fufaat & scuea (Baeer &) or gZ2mar o
el

Company / =it
ma mB aC
2500 -
E 2000 - gy o
E 1500 A 1100 1200
= 950
S 1000 - 700 700
o 500
© 500 4 300 H H ﬂI
[
D |_] L] ]
2014 2015 2016
Year | af

Total production of company B in year 2014 and 2016 together is what
percentage of the total production of company C in year 2016?

Y 2014 TUT 2016 H FACTHER HU B BT HA IATGH, T8 2016 H HTT C
F $A IAG BT T Tfa=rd 82

(A) 160

(B) 200



105

105

105

09-
09-
2018

09-
09-
2018

09-
09-
2018

576

577

578

(©) 150
(D) 250
In the following question, select the related number from the given
alternatives.
23:60::47:?
frafafad oy 9 fau e foswed! & O defia e &1 gu|
23:60::47:?

3:60 7 (D)
(A) 74
(B) 54
(C) 64
(D) 84
Rajat started walking from point P. He walked 14 km towards north and
reached point Q. He then turned right and walked 37 km to reach point R.
He turned left and walked 24 km to reach point S. He finally turned right

and walked 18 km to reach point T. What is the straight line distance (in km)
between point T and point R?

S A fog P 4 =1 URH fobdT| a8 14 fob 1. STR 1 3R =rer a1 foig

Q R Ugd AT I8 O ST 3R 7T 7 37 fob. #fl. et fag R R ugd

1| 98 ST SR ST 7T 24 fob HI. Teiebr g s TR Ugd ATl 98 Sl
Sl R geTaur 18 o it g Tu“\ftlg%rwm%igmznﬁr—glz (B)
%nw%ﬁeﬁmgﬂ@ﬂ? o) farat g2

(A) V5165
(B) 30
(C) 28
(D) V890
(B)

What will be the mirror image of the given
figure?

& 7 gty @ guur uafasr war geme

]
A~ D2

(A)
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A 8

A d

A b
(B)

A 4

5P

A b
©

A B

A9

A b
(D)

A 4

vYP

A b

In the following question, select the missing number from the given series.

39,41, 43,47, 47,53, 51, ?

frafoad uy & fou 7 faseal & | g 3ic 1d BifoTe |

39, 41,43,47,47,53,51,?

(A) 59

(B) 55

(C) 69

(D) 65

SelecF the correct set of mathematical operations to correct the given
equation.

38212?114?24?53=-45

%WWﬁH@W%WWW@ﬁ%?@W@
|

38212?114?24?53=-45

(A)—, + +x
(B) X, & =+
(C) +, =+ X

(D) X, +s -

(A)

(D)
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What will be the effect on diffusion resistance, if the collector current is
increased in hybrid-n equivalent circuit of BJT?

BIT & YA (FTEHS)-n T URTY & TE® URTH gfg g1 W
fagRor gfeRYY R Fa1 gHTE g2

(A) It will remain same.

A |

(B) It will increase.
(C) It will decrease.

(D) It will first increase then decrease.

Ugel gt bR weh

Which of the following statement is not true for 555 timer?

iR & @ o 91 HYF 555 TTsHR & ol I 81 82

(A) It is linear integrated circuit.

g U TG Ui uRuy (iR $8RE wide) R

(B) It operates on supply voltage in free-runnin%mode.
I

g 11 AT OIS T diees MY O S dxar

(C) It has adjustable duty-cycle.

AN (TSORE) St Arsford ]

(D) It has high current output.
Ig I YR SUGH ¢ |

A simple diode circuit shown in the figure below has the input voltage 15sinuwt. What will
be the relation between the maximum and minimum value of output voltage of the
circut?

drr v 9 wh §lel SIS @ sAYE diees 15sinwt ¥ oty (afde) & mEoge
dieesl & HUSaA T ~gAaH A & dig GFa9 F741 T

V= | S5im wt

1540

1362

A)

Omin = ¥ Oma

©

(B)

©
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v!)mir- = V-I)n'e.x
©)
V-':lnir. - _2 v:lmac
D) v
Ve =— Drmnax
Oirmin 2

The input voltage of a simple diode (shown in figure)is 15 Valts. Which of the following
condition is TRUE for the diodes?

UE TE S (T #F gaier ) & s dieew 15 dee #) Featared 7
i & g (@SR s & v o i

210

L1

—— 5V A 2

; . OIE

(A) D; ON, D, ON, D; OFF
D, dTd], D, 91, D; §G,

(B) D; OFF, D, OFF, D; OFF
D, ¥q, D, §q, D; §q

(C) D; ON, D, OFF, D3 OFF
D, I}, D, §q, D3 g

(D) D; OFF, D, OFF, D; ON
D, dg, D, dq, D; dI¢],

A 4-bit universal shift register consists of four flip-flops and it is a 4.1 multiplexers. What
will be the mode of operation of registers if the input lines are 5,5,=107

r 4-Tar gfeade fve o & 9w Ten witw ¥ iR 9w o 40 @
ArcIo Y 8| 3G $99C amed S5, =10 & a1 Wored & v & A &=
gram?

(A) HOLD

(B) Shift left

e due

(C) Shift right

(A)

B



e e

(D) LOAD

Which of the following is the simplified form of the

Boolean expression
Y = ABC - ABC - ABC 7

Fre=fofa & @ o7 @ gforms oies © wteas o 87

Y= ABC + AEC + ABC

(A)
09- I o
105 09- 586 Y=({A+B+C|-(A+B+C|(A+B-+C] (B)
2018 ' ' '

(B)
Y=({A+B+C|-(A+B+C|.(A+B~+C)

©
Y=(A-B+C|-(A~B-C|.[A-B-C]|

(D)
Y=(A+B+C|-(A~B+C|.(A+B-C]|

The duration of a hold mode of sample and a hold circuit is 10 seconds. How
much time will be taken by the analog/digital converter to convert the analog
signal into digital signal?

TP IS A Jud 3R T gics Ffdhe &1 3@y 10 Jhs g f3iiea
Rrord &) T e &) uRafdd #3a & fog T / fefied sad
P! foaT THg @R

09- (A) 10 seconds
105 09- 587 109bS ©
2018
(B) Greater than 10 seconds

10 ¥bs q 3w

(C) Less than 10 seconds

10 s §HH

(D) Cannot be determined

a1 fan S gh|

105 588 (©)
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Few steps of 8085 program for the addition process are shown below.

sifafen ufiran & fore 2085 wme & g e fRmm e §)

MOV A, L
ADDH
MOV L, A
MWV A 0D
ADC A
HLT

On complete execution of program, what will be the location of the final result?

T & ot foeaes W, H#fee aftons @& e w g

(A) Register H
H

(B) Register L
L

(C) Accumulator
TS (3FHHcC)

(D) H-L register
H-L

A wattmeter reads 10 kW, when its current coil is connected in the R phase
and the potential coil is connected across the R and the neutral of a balanced
400 V (RYB sequence) supply. The line current is 543 A. If the potential
coil is reconnected across B-Y phases with the current coil in R phase, then
the new reading of the wattmeter is nearly

T dieHieR 10 fraidare gRiidl 8, 9id SUHT URT Fea (Pi3d) R-Ipo H
ST 8 3R YU el (PI3d) 3R 3R Tferd 400 V (RYB 3HIeHH)
MYt & TeRI q ST 5| AZT URT 5443 TR g | TS FHIAd Hraelt
(@1Sd) B B-Y BT &, R -l H 4RI S8t (P13 & 91 fhr A pae
foar T Y, < afcHieR & 701 IS TTHT BRI

(A) 10 kW
10 fparare

(B) 19 kW
19

(C) 32 kW
32

(D) 16 kW
16

While determining Thevenin’s resistance of a circuit,

U URUY &1 Yo ufeRiy &34 & fag,

(A) all sources must be open circuited.

Tl i, Gol uRkuy i e gIH =6y

©

©
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(B) all sources must be short circuited.

i Hid, sic IRUY $1 ovE gIF =1y

(C) all sources must be replaced by their internal resistances.

gt Fig, 3ridfve ufaRly & ged ¢ =1y

(D) all voltage sources must be open circuited and all current sources must
be short circuited.

Tt diees A G URTY BT aRE g a1y 3R Taft uRT i, 98
IRTY HT RE 8 1Y

A coil with certain number of turns has a specified time constant. If the
number of turns is doubled, the time constant would

& Hedl § 8 MEd B (@) 7 3R FiERd Foie @R Fiee) 3
gﬁ;ﬂﬁﬁa@ﬁ)aﬂmaﬁmwaﬁma‘rwmm
\

(A) get halved

3neft g Sret D)

(B) remain unaffected

(C) become doubled

CGiEEsIL]

(D) become four times

AN g1 St

©

In the given circuit, the function of diode D is

T T oy &, STE 5 o FE

(A) to protect the base-emitter junction

SY-QfHCR SaRM &1 PRi&d 3@ & fog



(B) to hold the output voltage to a constant value

3T3TYC dlecs Bl U fRR A deb Ach G o o7y

(C) to bias the transistor

TITRex B a1 R o fo1g

(D) to clip the output voltage

3{T3TYE dleesl Bl faey H & forg

Caonsider the given op-amp circuit.

Fafaf@d aRur wak &

R,
Ri
T 'TEW

The output voltage will be :

09 H13eqe diecs BT |

105 09- 593 (€)
2018

(A)

a triangular wave varying between +V- fo V..

s B ((ReR) 3T <V, ¥ -V, ¥ d" oRafda @) &= §

(B)

a square wave varying between +V ;. to —V..

UE g (FFARR) al <V, ¥ -V, & d oiafda @) s d

©
dependent on the element values. Therefore, nothing can be predicted.

It A W R AT &) H:, TS HFATA el vl ST Henell 5

(D)
equal to the voltage across R.

HR (R) # diees & aa|

105 09- 594 The number of circuit element that is\\are to be changed for converting a ©)
09- Colpitt’s oscillator into a Hartley’s oscillator is\\are
2018
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TH Hiadey NfRce B gred HfRyaer & uiafdd w3 & fo
IRy 3fqug (Afdbe tfede) HITem g

(A) one
s

(B) two
(C) three

(D) four
IR

In SAR (successive approximate register) type ADC, what is the change in
conversion time of converter when analog input voltage is doubled?

THUSR (AR SFTHIAA FRER) T30 TSR H, AR &b IR0l
g § uRad= 31 8T § STd TATENT 39Ye dleest GNAT 81 Sl 82

(A) Conversion time becomes four times

TR QI (F-a <T3H) IR THT 81 ST §

D)

(B) Conversion time becomes half

YRl GHY (H=a=i <TSH) ST 8l STl &

(C) Conversion time becomes two times

YR GHY (B T3H) & AT 8 Oirell &

(D) Conversion time remains same

YRl gAY (H-a=i <IeH) 98! Tedl &

For acquisition of input phase by PLL, the

PLL GRT3YC ol & Jffgu b forg, |

(A) VCO (Voltage controlled oscillator) frequency is tuned with input
frequency.

diRften [@lecs dgles 3iiiceR) g, $YC SRl o WY TR
[ERISIGIE

(A)
(B) VCO phase is adjusted to input phase.

Jfteit e 3Tge thel o THIISTA {3 SaT 81

(C) frequency and phase of VCO is adjusted to input phase.

dRdtaft ot SMafy 3R e, $AYE ol B TAANIT a1 ST g |
(D) frequency phase of input is adjusted to VCO.

$YC HT 3 ol diits H THmiford far srar g1

For which of the following parameters the linear isolated power supply is B)
superior to SMPS?

?Hﬁﬁmﬁw&mmqwmﬁwﬁsws RGN
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(A) Volume and weight for identical input and output ratings.

T YL 3R 3MT3TYE T I U 3rra 3R HR |

(B) Dynamic regulation of load.
I

(C) Efficiency over entire range of load.

IS 1 T 4T TR &
(D) Protection of equipment on high impedance load.

I UfAETHT YR TR IUHN DT GRE|

A depletion layer that builds up across a p+-n junction lies
TG pt-n SIaRH B 9 ATeH U 3aed IR gl

(A) equally in both the p and n region.
QM p 3R n &3 H FHA U |

(B) mostly in p region
STGIR p & H|

(C) mostly in n region

TG n & Hl
(D) entirely in p region

TR Y p A

Diffusion current in silicon depends on .
et o fawRor (Swge) emr . R st gl

(A) the electric field

faggq &

(B) external voltage

(C) carrier concentration gradient

digd Hl-sdl Uqurdl
(D) both the carrier concentration and external voltage

I aTe® TTEdT 3R T8 dieedl

In a biased semiconductor, the drift current is
TH TS fefaras o, ¥9g uRT ((Fue #e) 3|

(A) equal to diffusion current

(FETIS) YRT & SRR

(B) temperature dependent
g AR

(C) temperature independent

GIRESREI

©

©

®)
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(D) greater than diffusion current

R0 (FEwRgmm) 4T & 3iftres

Which of the following processes can be used to form shallow P-well or
N-well regions for the fabrication of IC in CMOS technology?

CMOSWﬁlC%ﬁW%WWP-WeﬂmN—well éﬂa‘rﬁaﬂﬁ
P foru g 7 9 51 ufsranait o1 IuanT far o Gopar g2

(A) High energy ion-implantation
3o Sl 3-

(B) Low energy ion-implantation

g St SmE-TaRIg

(C) High energy sputtering
I Sl HUT &l

(D) Low pressure chemical vapor deposition

g e I aryg Ao

Which of the following material is considered most suitable material for
RTDs used in laboratory and why?

frafafad o @ o W areht yarr=rar § JudiT {6 8 RTDs & e
T IS TR HAT ST § SR i

(A) Copper because it has low resistance.

i 37 HH UCRIY I 6|

(B) Platinum, because it has high accuracy, high temp range and available in
pure form.

wifeH, Fifes 38 I RS, I A0 HHT § 3R A Y& ST H
RUGEI

(C) Mercury, because it is liquid at room temperature.

TRHY, Riifes Tg HH & ATGHA TR R |

(D) Nickel, because it has highest accuracy and highest operating
temperature range.

| NP 3D S IR 3R I=TH FATe JToH AT ]|

Which one of the following options is INCORRECT regarding any digital
type of instruments?

g ot 7 @ o9 1 fameu fondd) +ff fEfied TR & Ul & IR
g T8I 82

(A) Observational error is minimized or almost zero

3fadierH e FATH T TFTHT A 8|

(B) Accuracy can be altered

Y&l TGt S Hebdl

(C) Can present the precise value in overall range

Ty A § wdte 7 guid B

(B)

B

©
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(D) Loading is less
HRUT (AET) HH Bt 3

What would be the reading display of 0.5864428 on 1V range in four and a
half digit voltmeter?

1 VIS &1 &Y 1S IR 3 dliecHIeR H 0.5864428 UToY YeRid (ST
&) w e grm

(A) 0.586 (D)
(B) 0.58642
(C) 5.864

(D) 0.5864

Which of the following given measuring instruments/transducers cannot
measure AC value?

fafafad o @ HH 91 3106 IUSHR0T / TYIH (TRGIR) Th AC HH B
AT Y gehall 82
(A) MI type Instrument

TH. 3. <Y SUHRTT

B)
(B) PMMC

(C) Electrodynamometer

x

(D) Hot wire ammeter

gic IR TR

(B)
The line-to-line voltage of a 3—phase 50 Hz AC circuit shown in the figure is E. Assume
the phase sequence as RYB. What would be the possible walimeter readings?

fFeafafEa T & femmw T 359 50 w09t AC TG & @ES-7-weT dives E ¥
e 3GHA B RYBE T # AR G0 aredie I = @t 2

W,

(A)
W, =886 W, W, =886W
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(B)

W, =1000 W, W, =0W

©

W, =700 W, W, =500 W

D)

W, =100 W, W, =200 W

The figure shows duration of one peried of a signal. The Fourier series expansion of the

signal includes

ot fimarer Y U wraa $r Aty Fr oot B Rvew & wRay Aoft vegtaa §

e &1

x[tjj

Y

(A) sine terms of odd harmonics.

Tl (BHIHSRT) & T4 (A13) eH |

(B) cosine terms of odd harmonics.

o gt (@HifAa) Simad & dicar e |

(C) sine terms of even harmonics.

T A1) (g & T (F18T) < |

(D) cosine terms of even harmonics.
TH gATE! (§HIHEY) & Biedr eH |

Identify the FALSE statement regarding the RS232 standard.

RS232 AM® & &Y H T fGaR0 &t UgaH & |

(A) It is used for establishing the way data is coded.

D] SUUNT ST B! DS B P dRib! & fort fpar Sar g1

(B) The data transmission rate is decided by the standard.
ST YRRV &R A GRI 7Y b Sl & |

(A)

©
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(C) It defines the value of signal current.

g RUd YRT % A &1 URHIT HRaT |

(D) The standard connector configurations are defined specifically.

A S faor foRly =0 ¥ ufkvifdd fear man g |

The service routine for a certain interrupt starts from a fixed memory
location. The service routine is not possible to set externally, but the
interrupt can be rejected or delayed. The interrupt is

fr it Tep AT Sexy @1 9 Tl fhaks A A = g1t B e
FY Y I B & (o10 FAY T THT 781 §, Afh 3e¥ B 3RGIPR
3R 39N facia farar o o 21 Sev9 21

(A) non-maskable and vectored

1 Ap s 3MR JaeR (B)

(B) vectored and maskable

e 3R AEh T

(C) maskable and non-vectored
TR&& 3R A e

(D) non-maskable and non-vectored

1 A%p e 3R A19 dae

Identify the TRUE statement(s).

Flash type ADC is the fastest data ADC.

The execution of the instruction CMP B takes minimal time.

READY signal is used by the microprocessor to operate with the fast operating
devices.

4. Current mode logic gate family is the fastest logic gate family.

Lol e

T U T TR W)

1. FelY UER 6 ADC Had OF 521 ADC ¥

2. =&Y CMP B % Toaeaael # wgedH A w9 B

3. 4S & A SUwl & WY w1 F F U #SEURET g READY THIad
@ FustEr o s &)

4.y Tt @fferes fie ufEn 93 o |l fie oER &

D)
A1
1
(B)3,1and 4

3,134

(C)3and 4
3 3R 4

(D)2, 1and 4
2,13k 4

®)
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In an 8085 microprocessor, the SP is ABCD H.

PUSH B
XTHL
PUSH D
JMP FCTOH

Al the end of execution of the sequence of instructions, identify the contents of the stack
pointer.

8085 ASmUEET H, SP ABCD H &)

PUSH B
XTHL
PUSH D
JMP FCTOH

Tore ot oF aregere o fwmeer & 3fa 3, e aiges el f ueaa wY|

(A) ABC7TH
(B) ABC9 H
(C) ABCBH

(D) ABCCH

The Maxwell’s equation which is derived from Ampere law is

AT BT FHiBRU Sl TR e 9 forr mar g gl

(A)
Div(l)=H
(B)
Div(H)=J
©
Curl(D)=B
D)
Curl(H)=J

D)

(A)
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The possible open loop transfer function for the polar plot (shown below) is .

drr o o dier tae & e derge: A qU gEEeT e b

(A)
K(s+a)(s+b)
s (s+c)

(B)
K(s +a}
s%(s+C)

©
K(s+a)
5Z(s+c)(s+d)

(D)
K(s+a)(s+b)
5°(s+C)

Statement1: If any coefficient in first column of the Routh array is zero, now replace
zero by smallest positive constant.

Statement2: For abrupt ending of Routh array, an auxiliary equation is constructed and
differentiated to get new coefficients of Routh array.

Fue: ofe w3y O F ap Of F FE auie o ¥, df A9 gET B s oA
YD Fade 4§ uiaemita a1

FUT 2: TSY O F IIE TAIGA 5 Torv, U e weier & EE fran
§ 3R =y 7 @ = ene o S & e BeRa e b

(A) Statement 1 is correct and statement 2 is incorrect.

FHYT 1 g g SR PYT 2 TAd B

©
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(B) Statement 1 is incorrect and statement 2 is correct.

HYF 1 Tad ¢ 3R HY 2 FEl B

(C) Both statement 1 and statement 2 is correct but statement 2 is not the
correct explanation of statement 1.

%ﬁﬁ$ﬂlﬁ?$ﬂ2ﬂ@%%$ﬂ?2$ﬂlﬁﬂ%ﬁmﬁ
|

(D) Both statement 1 and statement 2 is correct and statement 2 is correct
explanation of statement 1.

B BYT 1 3R B 2 TE ® AR BYT 2 HUT | T T8 WP B

Which of the condition is TRUE for a stable system?
e RR yumelt (Red fem) 3 fore o It Rufa g 82

(A) Phase cross over frequency is greater than gain cross over frequency for
both positive phase and gain margin.

gifoied Thol 3R T H1foi & forT, el i 3M1aR higha! &1 JH 19 b1
3R I A 1T R

(B) Phase cross over frequency is greater than gain cross over frequency for
both negative phase and gain margin.

J0fea oot 3R T AT & o, o 1 3R BIehE &1 HIF 719 1
IR BIH J TS 3|

(C) Phase cross over frequency is less than gain cross over frequency for
both negative phase and gain margin.

e bl 3R T Ao o T, Bl 14 SR Wiehal T HIF 74 b1
SR Tierdl 9 HH

(D) Phase cross over frequency is equal to gain cross over frequency for zero
phase and gain margin.

ST Tt SR T Ao & o, Tt 1 3fiaR Whieh it T HIH 74 i
IR e & TRIR 3|

The temperature sensor in an air conditioner works as .

Th TR G R AAUAR Tdehs P U H HH BT 8

(A) feedback element
Hdyq

(B) actuator

(C) control element

[REEIGKCRE]
(D) input element

FC Saaa

Which of the following is CORRECT inference for the given statement?
Consider the statement, “A passively realizable reflection coefficient can be
plotted as unique point on the Smith chart.”

(A)

(A)

©
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fofafred 3 @ oF w1 fou T sy & o w6l 82 e s gurda
qﬁﬁa&gﬁmgﬁ@uaﬁw%ﬁg%wﬁmﬁam
EIREIRR

(A) Reflection coefficient greater than or equal to 1 can be plotted.

1 3 31 a1 SRTeR ufafed (uciad ) Turies Ao fasan S wehdr |
(B) T=I'+1

(C) Reflection coefficient less than or equal to 1 can be plotted.
1 ¥ HH 97 39 SRISR Udfad i) 0N STiford foar S devar
g

(D) Transmission coefficient has to be less than or equal to one for the point
to be located.

faig & fore arur (¢afiRM) Turie U 9 &Y 31 sRIeR 141 91U

Identify the nature of the electromagnetic waves, if curl is non-zero and
divergence is zero.

fagga e a3l &1 UHia & ugaH &3, afe ol < 8 iR
SRS LA &

(A) Irrotational, Solenoidal

RN, FrAHaSd

(B) Rotational, Divergent.

©

(C) Rotational, Solenoidal

>

(D) Rotational, Divergent

s

Probability of error in BPSK process decreases, when
BPSK Ufshar & 3fe &) uiieat A § S B, e

(A) distance between two symbols 0 and 1 increases.

3 fRe 0 3R | & ol Bt g 9g Wl B

(B) distance between two symbols 0 and 1 decreases. (A)

3l gl 0 3R 1 & S &Y g HH B S 81

(C) energy of bits decreases.

fSrca &t Soif B g1 o 1

(D) isolation between symbols 0 and 1 decreases.

g 0 3R 1 & S BT JUTFHRUT (TSR HH 81 STl g |

©
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Choose one correct option.
Statement |: FOMA and FDM are similar terms. There is no distinction between them.

Statement II: FDMA is an access method in the data link layer that utilizes the concepts
of frequency division multiplexing.

A e
FU |: UHECAY 3 USSR T GegaTe £ | 3o die S e A8

T II: THETeAY SeT e oie A ve sifee fafer & S smafea fasner= agsea (Hraad
et s fae & feed &1 STe T i)

(A) Statement I and Statement II, both are correct.

PHYT1 MR BYT 11, SHT el B

(B) Statement I is correct and Statement II is incorrect.

HYT 1 TS g R BYT 11 Tad B

(C) Statement I is incorrect while the Statement II is correct.

HYF 1 TTed § Sigi YT 11 Tl 5

(D) Both statements are incorrect.

I HYT T

A time division multiplexing system is to be designed to multiplex the following three
signals.

¥, =25c0s(1500:t)

X, =20cos(2000xt | cos( 42002t )

%, =20sin {4100zt ) sin (35001
What is the minimum sampling rate?

o TAT OHIS Fee e aw [eed B Saaiarid o Tl @ Aceicoad o] &
fom fEmmsa foran Aran 8|

x, =25c0s(1500t)
x, = 20cos(2000xt |cos( 4200
3y =20sin (41007t ) sin (3500 ¢)

=Aad S &1 (FufEe ') = R

(A) 3800 Hz
(B) 7600 Hz
(C) 4200 Hz

(D) 3000 Hz

®)

D)
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The diagram given below is the simglified diagram of GSM network architecture. There
are three missing term in the schematic diagram. Name the module from the given
options.

&y e amn oA Sregus dead it @ wwiga Hvw g dE=we s # e
wree a1 R o faeedt 3 #Higy oA )

FLMM, PN, IS0, FSDN

(B

(A)
(i)-NSS, (ii)-BSS, (iii)}-NSS

B o -
(i)-OSS, (ii)-NSS5, (ii}-BSS

©
(i-BSS, (ii)-NSS, (ii}-BSS

D)
(i)-MNSS, (ii)-OSS§, (ii)-BSS

The beam width of the parabolic reflector is the frequency.

%mamuﬂaﬁa?m%ﬁqﬁmaﬁmﬁsu,&mﬁéﬁ
|

(A) directly related to

(B) inversely related to (B)
(C) directly related to square of

(D) inversely related to the square of

What is the far field radiation term in the expression of electric field in a (A)

small loop antenna?

ga?@ﬁ%umﬁeﬁmﬁﬁ'c{gaﬁaaﬁ 3ff¥eafer H gR & fafdhur Tree &
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(A)

=~ | =

(D)

S-band radar is being transmitted at 4 GHz, it radiates a power 150 kW and having
effective area 7 m®. Determine the signal power density at the range 100 and 400
nautical miles.

5-d5 TR 4 AiMEes W UG BROT S @ % 9% 150 free faee & fafeie
e & T s wedt & T med ¥ R e 8RR @ e 100 3w 400
HAAT A T B

(A)

2 8mW/m* and 0.7 mW/m* ©

(B)
36.8 mW /m* and 9.2mW /m?

©
10. 8 mW,/m? and 2.7 mW /m?

D)
12.8mW/m* and 3.2 m\W /m?

What is the important application of a multi cavity klystron? (A)
Aecl Biaet faaee i &1 Ayl SIyanT Fm 82

(A) Satellite Communication

(B) R.F generator in microwave transmitter circuit
JEAAT UNSH URUY (FTZH1ad SraHIeR Tfdhe) B 3RUW SFRex
(C) Local oscillator in microwave receiver circuit
Y& YUTR! URUY (ATgshlad REfiaR Ffdhe) & didba alad
CESIREN)
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(D) C011 formation in helical resonators

HEABR STCH (FfeTd SHIeR) B HUSH &1 fAafor

In equivalent circuit of BJT hybrid p model, what operation is needed for
modeling the effects of charge storage?

sorct fuf¥a efye) & Aied & gawe afhe §, 3w HeRUl (RRW)
F gHTG! & UfaRequr (\isfenT) & o frg
TATeH BT SATTIHT &2

(A) Adding parasitic capacitors to the low frequency p model of BJT
equivalent circuit.

SIoIc THGE URTY & &Y MRl p Aled IR 3 (RfeH) Juila &I
S| (A)

(B) Applying short-circuit between the collector to the emitter.

Holaex & dId o P (oY JTe-Hlahe BT T AT

(C) Adding the base spreading resistance.
¢ DI SIS

(D) Adding the intrinsic base emitter resistance.

3TaRes YR IToie UfaRIY SIS

Which of the following is NOT a property of discrete cosine transform
(DCT)?

Wﬁﬁﬁ@%ﬁﬁwwmﬂ)ﬁﬁ@wﬁ

(A) The DCT is real, symmetric and orthogonal.

S arafae, gaftdia (Rifesw) 3k dweiviy (3idfme) 81

(B) The DCT is the real part of the DFT. (B)

SR Suwd &1 aRafds U R

(C) The DCT has excellent energy compaction for highly correlated data
sequence.

gﬁ?ﬂﬂﬁ&m%%w@: HIHS! & T & [T SPHT SHoll Garo

(D) FFT can be used for fast computation of DCT

THUG o1 SUANT ST BT ol 7T & 7T fban o epar @

Identify the element which is NOT the part of the Quadrature mirror filter. ©)
3 3(aUd DI UgIH B Sl BIsaR Ulafers fheex § Twifta 61 8

(A) Low pass filter
U

(B) Decoder

(C) Quantizer
HifcoR



(D) High pass filter
gIs Uy

What is the relation between cut off frequency (£,) and the frequency (f) of a wave
propagating in hollow metal waveguide with transverse electric mode?

we Hw smgfa (£,) AHT vE Wi g F gl # e sekes A agla
(f) & dav Fm b2

(A)
09- tf,
105 09- 630 ©
2018
(B)
f=f

©
f>f

oo

(D)
f>2f,



